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PRACTICES
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Note — Attempt five questions in all, selecting one question

from each Unit. All questions carry equal marks.
mﬁ@ﬂ@mmwm@,@ﬁamﬁ
| %mﬁmrmﬁgﬁa‘?ﬁw‘%l

Unit-I
(13-
== | What do you understand by the term Management ?
Explain its scope and functions also.
Wwﬁmwwﬁ% ) Tod FRAT Td HE H
off FAATET
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2. Elaborate the neo-classical theories of management in

detail.
Yad & Jo-Iea fagl @ famr | auE wifs
Unit-11

(F=h3-10)

3. What are the types of decision that has to be taken by a

manager ? How do the decision-making process works ?
T YU FI fHE YHR & frolg o 8 § 2 foia o @t
yfwar BY wH w4 7 ?

4. What is the role of mission, vision and objectives in
management of an organization ? How does it affect the
planning process ?

Rt TS & YA ° faeE, faom iR Sewal &t =& yYfH et
¥ 2 gz fraem gfwa = fFe yeRr gwifaa & & 2
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Unit-I1I1

(FFTE-110)

~ What are the types of recruitment ? Which type of

recruitment will be most suitable for an educational

- itution ? Support with example.
o & wer @ & 2 fe Safoen gem & fog fFw 6N
i vl T IR S 2 S dfed W H
~ What do you understand by organizational structure i
What are the elements of organizational design ?
@mmmmdﬁﬁwéamamxmﬁr%?ﬁmmm$ﬁﬁﬁa$
qeel F© ?

Unit-1V

FFE-1V)
. Explain the leadership theories in detail. What are the
qualities of a good leader ?
%gaﬁﬁmﬁaﬁﬁﬂmt@awmm|Q$aﬁ$%mfﬁam{m
;W E 7

(3) 8978 TurnOver
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8. Explain the process of a two-way communication. What

are the barriers that affect the two-way communication ?
QT R YR TGS | FIAE A E S -
TuR ) yufad w3 € 2 |
Unit-V
FEE-V)
9. What do you understand by controlling ? Explain the

process and techniques of controlling.
o @ =y oo wHea € 2 A # ufwar wE ast
%l HHAY |
10. Explain the following :
(a) ABC Analysis
(b) Financial Ration Analysis
fr=fafead &1 w99
(37) wErEr fagetoo
(=) fodta Tem fagetsm
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BUSINESS ENVIRONM ENT

(DSC)
Paper : MC-102

Time : 3 Hours]

|
[Maximum Marks : 80 {
1

Note — Attempt one question from each Unit. All questions

carry equal marks.

mw@ﬁ@wwwaﬁmmﬁgﬁé

3 A B
Unit-I
(FTE-1)
1. Briefly discuss the interaction matrix of different
Environmental Factors.
i Tt el et HfgRd WOwAW A A
FHIfT |
C_534 (1) 8979 TurnOver |




. Explain the role and functions of NITI Ayog.
Hifa s #® qfes ol sl w1 aren Ffww

Unit-II

(3=hT3-10)

. What are the objectives and advaﬁtages of Industrial
Policy ?
srepfre fifa & SRyg ok @y F T ?
. Write a detailed note on Fiscal Policy.
T Afd W ww fawga fewnit fafem
Unit-III

(3T3-110)

. Define Industrial Sickness. What is the impact of sickness

on the economy ?

Ireifie St # wiefia wifsw) sdferaeer | S @5
SR B R ?

. Discuss the main provisions of Environment (Protection)
Act. |

AR (W) sfufem B qer yaeE w w= g
C—534 (2) 8979



Unit-1V |
(FFE-1V)

7. Write a detailed note on ‘Foreign Investments and its

types’.
‘faelt fraw st se@ yaR' W ww fawga feoit fafe

8. What do you understand by Balance of Trade ? How

does it impact BOP ?

Y AR H FeH § ¥ gugd § 2 7% el # hH
yfaa @@ & 2

Unit-V

FEE-V)

9. Discuss the functions and structure of WTO. -

TSl & e ol e W owdE RIS
10. Write a short note on Non-tariff barriers.

F-3er et W wfaa feooft fafew)
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MANAGERIAL ECONOMICS

(DSC)
Paper : MC-103

Time : 3 Hours] [Maximum Marks : 80

Note — Attempt five questions in all, selecting one question
from each Unit. All questions carry equal marks.
oI PR T T WA H1 99 wW Y, FA qr= Tl
# W fee) gt g & o6 §EE ©

Unit-1

FEE-D

:l 1. Discuss the paradox of Micro Economics. Also differentiate

between micro and macro economics.

g sded B falue W ==t Fifw) g @ g
Fefyred B WfE R off sy
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2. What is the law of demand ? Explain with the help of
demand curve. Discuss various factors influencing demand.

i &1 fam w= ® ? 650 9% St gegar @ g9 q9i
1 gufad F@ o fafis sl | 9= SIS

Unit-II

(FehTe-ID) |
3. Why is demand forecasting essential ? Differentiate between
survey method and statistical methods of forecasting.
Hht 1 qaigAaE @ sTavas €2 waew fafy oIk qatgEH
#1 gifersta fafudi & 9 @ Hig
4. What is meant by diseconomies of scale ? How do
diseconomies affect the returns to scale ?

e w fodmfadl @ Fn aeed ® 2 fawnfoat YEm W fed
o HhY ywfad w2

Unit-III

- (3FTE-1ID

5. How is the price of a commodity determined in a perfectly
competitive market ? Illustrate and explain, how firms
under perfect competition find their equilibrium ?

U yfeergl 9o A R 9w Y wia S fuite s

W%’Wmmmﬁwmam
HEEl O HWgEH DY YR §

C-535 (&) 8980




6. What is meant by price discrimination ? Discuss its
different types. Why do monopoly firms adopt
discriminatory pricing policy ?

Fhra Yewg @ 0 aqd ¥ 2 s fafvm Rl o
| e wafE Sewege gea fruio i
A § 2

Unit-1V

FERE-1V)

7. Discuss the concept of Inflation in detail along with its

types. Write down various methods in detail to measure

inflation.

g—;mﬁﬁaﬁaamaﬂtw@wﬁmﬁmﬂﬁ?ﬁf
SHITIC | Wﬁ_mﬁﬁﬁfwfaﬁﬁﬁm@
fafa |

8 What is meant by fiscal polic
policy in  the economic growth of an

y ? Briefly describe the role

of fiscal

underdeveloped economy.

mﬁﬁﬂﬂﬁﬁwmﬂﬁ%?mm@maﬁ
ﬁwq@ﬁmﬁﬂ%ﬁiﬁwmﬁmfiauh

HifC |
C-535

(3) 8980 TurnOver



Unit-V

FFTE-V)

9. What do you understand by break-even analysis ? What
purpose does it serves in managerial decisions ?
-3 favemm ¥ o = guga € 2 yeuey foigi |
THH T ORYT ¥ ?

10. Explain the determinants of short-term and long-term profit

in detail.

Feqwad AR dewtos oy @ fufe & fawr [
T -

C-535 (4) 8980
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Note -— Attempt five questions in all, selecting one question

from each Unit. All questions carry equal marks.

e T @ TE T B W FW g T W g
*Wﬁﬁﬂlmﬂqﬁ%éﬁwﬁﬁ

Unit-I

| (F%E-D)

1. From the following data, calculate Quartile Coefficient of

Dispersion

C-536 | (1) 8981 TurnOver




— Wages Less than No. of Workers
10 5
20 ]
30 15
40 20
50 30
60 33
70 35

ﬁ%@aﬁgﬁﬁ,ﬁm%a@mmﬁmﬁmﬁm:

}[W@T A FH sfwt @t g=&
10 5
20 : 8
30 15
40 20
50 30
60 33
70 35
C-536 (2) 8981




{
Z
A batch of 10 students obtained the following marks out
fficient.

of 100. Calculate the mean deviation and its €0
Marks : 58, 39, 22, 11, 44, 28, 49, 55, 41 and 42

10 B &% TH 99 A 100 # @ Frfefa o W< U
e fage SR sEd UiE @ A A

si® 58, 39, 22, 11, 44, 28, 49, 55, 41 sl 421
Unit-11
(zE-1D)
3. Find coefficient of correlation for the following :
Cost () Sales )
39 47.
65 53
62 58
90 86
82 62
75 68
25 60
98 91
36 51
78 84
C—536 | (3) 8981 TurnOver



Wamm@w&waﬁm‘
@ Q '

wrma (3)
19 47
65 53
62 58
90 86
82 62
75 68
25 60
98 91
36 51
78 84

4. “Index numbers are devices for measuring differences in
the magnitude of a group of related variables”. Discuss
this statement and point out the use of index numbers
‘e WeA] gEiea W H WIE H IRET H SRR
Qg & I9H 1" FE HUA W g9l HifAg IR FEEww
dEst & Ivam & gfi s

C-536 (4) 8981




5. Discuss the propertlc

6.

normal distribution i

(1)

(it)

Unit-1I1
(zare-1ID)
s and applications of the multivariate

n multivariate statistics.

In a lottery, there are 10 prizes and 90 blanks. If a

ket; what are the chances of :

person holds one tic
(a) Getting a prize
(b) Not getting a prize

& ared # 10 TR ar 90
m*r fF & 99 T fome &, A
€ 7?
(31) qERR g HTH
(q) R T fAer

What is the probability
random will contain 53 Sundays ?

mﬁwm%ﬁmwﬂgﬁm@
g o § 53 WER E 2

ﬁﬁ%ﬂﬁﬁlﬁ%laﬁ
gmﬁaﬁrgﬂm

that a leap year selected at

8981 TurnOver
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7. “The alte

researcher believes 10 hold t

data would lead tO acceptan

true’. Elucidate.

which the sampling

8. Discuss the conditions under

bution of the sample proportion approximates a normal

distn

distribution.

FEFE-V)

9. A child psychologist believes that children perform better

on tests ' '
when they are given perceived freedom of choice

C-536
L84 8981



To test this belief, the

experiment in which 200 third gr

assigned to two groups,

‘the same simple logic test. However, in group

child was given t

from many with various dr

psychologist carried out an

aders were randomly

A and B Each child was given
B, each

he freedom (o choose a text booklet

awings on the covers. The

performance of each child was rated as Very Good,
Good, and Fair. The results are summarized in the table
provided :
Groups
A B
| Very good 32 29
Performance  Good 55 61
Fair 10 13

Test, at the 5%

level of significance, whether there 1s

sufficient evidence in the data to support the psychologist’s

belief.

C-536

(7) 8981 Tumn Over




SRy
\ &

UF o FowT & A § = el § e
mhm%ma%ﬂﬁaaﬁﬁﬂﬁﬁﬁﬁmﬁW%n
Wﬁ?aquﬂwmﬁﬁﬁm,ﬁéwﬁzﬁﬁqmm
%mﬁiﬁzooﬁaﬁmm%mﬁaﬁu@mmﬁa |
“@,Qaﬂ?ﬁrﬁﬁgﬁﬁmw,maﬁaﬁwg} !
WW@W&WW|W&,W@&‘I&W@
ﬂﬁwwﬁﬁmﬁsﬁmﬁﬁﬁq@gﬁaﬁﬁ@@q@
Eﬁiﬂaﬂﬁﬂ%aﬁwﬁwanﬁ%mﬁ%wﬁqaﬁ
Wm,waﬂxﬁaﬁﬁmmlw-maﬁ

e
T ot
qEq T 32 29
yayia 3T 55 61
Sfera 10 13

S%W%wwﬁmaﬂﬁqﬁﬁmﬁm%mﬂ
wmﬁwﬁﬁm@aﬁmw%mqﬁl
10. Explain how non

-parametric tests are utilized in clinical
trials

and medical research, especially when dealing with
ordinal or skewed data. -1

m%ﬁt—ﬂmﬁﬁmqﬁ&wﬁmwﬁmﬁmqﬁwaﬂt
ﬁmaﬁmﬁ%@%mam%,@wmmm
2 ¥ fAgen ¥ 2

o C-536 (8) 8981



ROI NO. .ooviiveeemnissasanarmissseacs:
Total No. of Questions : 10] [Total No. of Printed Pages : 8
(2064)

M.Com. (CBCS) Ist Semester Examination
8982
TAXATION LAWS AND
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Note — Attempt five questions in all, selecting one question

from each Unit. All questions carry equal marks.
Wmﬁ@mmwm@,mﬁﬁamﬁ
a‘;mé’rﬁmwﬂm*aﬁw%a

Unit-I

G-

— | Define the term Income as Sp
in detail various Principles relating

ecified under Income Tax

— Act, 1961. Also explain

to Income under Income-tax Act.

C—537 (1) 8982 TurnOver




I |

\

> -

AT sfufam, 1961 & qeq fifise s = IRy
HINE | o sfufem & aed o F Wl fafi
fegrit =1 ot fomm @ wHEmEw)

2. Describe some of the planning tips that can assist salarieq
people to reduce their tax accountability.

FO FEem Ffedl w1 avi wifg S e a5
mmmmmﬁmmm%l

Unit-II
(3HTE-1D)
3. Differentiate between the following :

(@) Statutory provident fund and public provident fund
(b) House Rent Allowance and Rent-Free Accommodation

ﬁrﬂlﬁi@a%aﬁwaﬁﬁm:

4. ‘A’ furnishes the following details of his salary income :
(@) Salary 4,000 p.-m.
(b) Dearness Allowance 500 p.m.
(c) Entertainment Allowance ¥ 200 p.m.

(d) Employer’s and his own contribution to unrecognised
Provident Fund ¥ 2,600 each

(e) Interest on the accumulated balance of provident
fund @ 12% p.a. T 2,600

C-537 (2) 8982




(f)  City Compensatory Allowance T 60 p.m.
(8) Medical Allowance ¥ 1,500 p.a.
(h)  Project Allowance ¥ 600 p.m.

() He is also provided with an unfurnished
accommodation for which his employer charges T 200
p.-m. The fair rent of house is ¥ 12,000 per annum.
The house is owned by the employer.

Compute his taxable income from salary.

‘U SRt e g @ faefafea faeo yw@ @ ¥ o

(H) 307 T 4,000 9fa =

(@) wdmg s T 500 wfa 9w

(|§) "R smr T 200 wfa =w

(7)) M-mr=a wra ufaen fafy & e o sew &9
F ARA T 2,600 TRAE

(7) wfgen fafy % @fea 99 9t (2% wfd ad # =T @
2 T 2,600

(v) 7 gfaqm v 60 9fa @

(7) fafsen v T 1,500 9fa =

(7) qfzraa sm T 600 wfa W

(1) 23 UF gufom ama off wem fea s ¥ foraw

frrg, 3amm frdmm € 200 wftmme yew om0 W W
e e T 12,000 uft wd ¥ w3t W wnfirem

fodvrn % urd ¥
AnA W FAW) W WM g w) Al wifag

C-537 (3) 8982 Turn Over
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Unit-III

(3T3-111)

S. Mr. Shankar Lal’s income particulars are as under :
() He took a house on the rent of ¥ 1,000 per month
and let it out again for ¥ 1,600 per month. Besides,

he received T 5,000 rent from his ownership house

(1) Dividend from an Indian Company X 4,000 (Gross)

(i)  Speculation business profit ¥ 6,000 and ¥ 500 from
cricket gambling

(iv)  Agricultural income in Sri Lanka ¥ 10,000 was not
brought in India. Z 18,000 income from agricultural
land situated at Kanpur

(v)

Salary as an ML A. 7 30,000 and Daily Allowances
< 4,000

(vi) Share in HUF. income X 8,500.

(vii) Dividend received 7 6,000 from Co-operative Society.
Compute Income from Other Sources.

8982



(i) WRdE wEAR ¥ A T 4,000 (FHC)

(iii) a@mﬁwﬁwmﬁm,(}maﬂx?sm
1 WY B

(iv) aﬁaﬁmﬁqaﬁeﬂmﬂoooomﬁﬁ”fariﬁn
wﬁmﬁqﬁrﬁtmmam’rm

(v} MLA & ®9 ¥ a@ ¥ 30,000 it 2fs @ T 4,000

(vi) HUF. # fesert & o X 8,500
(vii) GEr@t gfafa & @@ T 6,000 9T g
3 Wl Q AF FH MUET HifWC
6. What is the basis of computation of income from House

property ? How would you arrive at the net annual value
of a house occupied by an assessee for his own residence ?

Te §ETa ¥ G K OTUA H OSHR T T 2 AU TH
fauifet gro o @d & fam & fag s9am feu @ =
# yg 9% Joa W HA TEET 7

Unit-1V -

FEE-1V)

7. “Losses from the speculative business can only be set off
against the income from the speculative business and
cannot be set off against income from any other

businesses”’. Comment.

C-537 (5) 8982 TurnOver




@

%
"@Wﬁﬁlﬁmﬁmﬁﬁ%ﬂa@ww
B A o @ foarg wEEte fEw ST gE@ el

TH6t o =mmm Q@ O At o @ faeg wEEfTT €
a1 w=wa ¥ feopit #ifew)

“Income tax authorities enforce tax laws and regulations.
They have the power to conduct audits and investigations
to ensure compliance” In the light of this statement explain
in detail the functions performed by Income tax authorities.
T AU F wE ol fafdl @ e @ ¥
STH T IIuer g e @ fou sidww el st
FE H AR Y W FE B oo § emaER SuwE
S0 fFA S o % B famr ¥ gEEmwu)

Unit-V
GFFE-V)

A had the following income during the previous year
ended 31st March, 2023 :

(1) Salary Received in India for three Months ¥ 9,000
(1) Income from house property in India ¥ 13,470

(111) Interest on Saving Bank Deposit in State Bank of
India ¥ 1,000

(iv) Amount brought into India out of the past untaxed
profits earned in Germany I 20,000

(v) Income from agriculture in Indonesia being invested
there I 12,350

C-537 (6) 8982



(vi) Income from business in Bangladesh. being controlled
from India ¥ 10.150

(vii) Dividends received in Belgium from French
companies. out of which I 2.500 were remitted to

India ¥ 23.000
You are required to compute his total income for the
assessment year 2023-24 if he is :
(a) A resident
(b) A not ordinarily resident
A =7 31 W, 2023 F1 g6 TS 94 & A AEfatas
A 49 -
() WRa § @4 WEH & 967 T 9.000
(i) ¥Ra ¥ g §wfW ¥ 3™ T 13470
(iii) g ©2 9% § §9d 9% 99 W =EN I 1.000
@iv) S § e @ X ded o F WRA J 9% TR W
3 20,000
v) ZEafym & Ff9 @ X At I @ 99 fEw fea
o1 W@ ' T 12,350
) areRY # oANR ¥ 3@, wa @ fatw v @

€ 710,150

vi

C-537 (7) 8982 Tum Over
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-

(vii) Sfesem & Wit st @ o gt g3, o
¥ T 2500 W@ w1 NS T T 23,000

AYH FeE I9 2023-24 H fo ITHT FA 3T FHY TOA]
FA F oTEvIRa & afg 98 ¥

() ww framat
() wmr=q: frard =&

“A corporate is an entity that has a separate and
independent legal entity from its shareholders. Domestic as
well as foreign companies are liable to pay corporate tax
under the Income tax Act. While a domestic company is
taxed on its universal income, a foreign company
taxed on the income earned within India i.e.
accrued or received in India” Elucidate.

10.

1S only
1S being

W & st s1f
mmwmm%wmﬁwﬁammﬁm
SR W i .

C-537

‘e 8982
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CORPORATE LEGAL FRAMEWORK

(DSC)
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Time : 3 Hours] [Maximum Marks : 80

Note :— Attempt one question from each Unit. Each question
carries 16 marks.
TAF TFE ¥ TH Y99 & W A T3F 999 16
3% H T
Unit-I

FFE-1)

1. “A company is an artificial person created by Law with
a perpetual succession and a common seal.” -Explain this
statement and point out the basic features of a company.

“FTgl FHA G AREG STUAR R T WG g @
Y ¢ T UH HW AR ¥ TH w9 @ e
Fifg Rk frt wE W P Fewwel @
It |

C-538 (1) 8983 TurnOver




.

2. What do you mean by Lifting of Corporate veil ? Under

which circumstances the corporate veil can be lifted ?

U W &Y ¥ A = awd ¥ 2 fee wRRefd
W HRE T e W ww d 0

Unit-I1
(3TE-10)

. Define memorandum of association of a company. Discuss

the importance and procedure of alteration in object clause

of memorandum of association.

@mm%m%mmﬁwﬁaﬁq%qmaﬂt
W W e Fif | |
; Whﬁt do you mean by

Mis-statement in Prospectus ?

What remedies are available to. the aggrieved party for
Mis-statement in prospectus ?

(2} 8983




Unit-11I

(311D

5. What do you mean by transfer of shares ? Describe
various provisions regarding transfer of shares.
I S T Y e e § 2 fEd F E
® wery § fafm yEuEl w1 a0 S

6. Write a detail note on provisions regarding Demat trading

in India. _

imaﬁéﬁaa@n@ﬂﬁﬁmuﬁmﬁqtmﬁﬁﬁaﬁwﬁ

fafaa
Unit-1V

FERE-1V)

7 Describe in detail about various kind of meetings which

can be held in a company.
bt e § 97 e fafw gER H AR F AW F
fqear @ 9ui ST |

8. Highlight the role of SEBI in Indian securities market.

smﬁauﬁﬁ%amﬂfi@ﬁaﬁqﬁwrm1wm13ﬁmu

8983 Turn Over
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Unit-V
(FFE-V)

9. What provisions are made in Indian Companies Act, 2013 H\
regarding corporate social responsibility ?
W Fee sifufrm, 2013 # #iiRe wmfve safe
d =Y § w1 yENE e T E 2

10. Why and how firms are intcrnatiqnalizéd ? Discuss various
international entry options available to firms,
memﬁaﬂtﬁMW% ? v B
mmﬁwaﬁﬁgﬁamﬁw“aﬁaﬁﬁrﬂ

C-538 (4) 8983




